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MANAV RACHNA INTERNATIONAL INSTITUTE OF Research & STUDIES (MRIIRS) (Deemed to be University), FARIDABAD
DEPARTMENT: Mathematics 
      BRANCH: CSE          SEMESTER:  3rd     

SUBJECT: Applied Maths-III (MA 302)                                       DATE: ………………

TOPIC: Function of Complex Variables- I                                    ASSIGNMENT No.: 1 

Note/Instructions (if any):    The Assignment covers the course Outcome No. 1.
Short Answer Type Questions
Ques. 1:

a) Separate real and imaginary parts:  (i)   
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b) Prove that:  
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c) Prove that: 
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d) Show that  
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 does not exist.  
e) Evaluate: 
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f) If 
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  is analytic function with constant modulus, then prove that 
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g) Determine 
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is analytic.

h) Define Analytic function and write Cauchy Riemann equation in polar form.
i) Prove that: 
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is wholly real.
Long Answer Type Questions
Ques. 2: Prove that 
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Ques. 3: Prove that 
[image: image15.wmf].

1

1

log

2

1

tan

1

÷

ø

ö

ç

è

æ

-

+

=

-

ix

ix

i

x


Ques. 4: Prove that 
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Ques. 5: If 
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Ques. 6: If 
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               prove that:  
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Ques. 7: Test the continuity of the following functions: 
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Ques. 8:  Prove that the function [image: image25.png]f(z)
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is continuous and C-R equations are satisfied at the origin, yet [image: image31.png]f'(0)



 does not exist.

Ques. 9: If 
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Ques. 9: Determine analytic function 
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(i) Real part is
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(ii) 
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(iii) Imaginary part is 
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Ques.10: Evaluate: 
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[image: image41.wmf]i

z

i

z

z

z

=

+

=

=

=

;

1

;

1

;

0



Qus11:  Evaluate  
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 , where c is the ellipse   
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Qus.12: Evaluate: 
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Qus.13: State and Prove the Cauchy’s Integral formula and use it to evaluate: 
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  , where   c is the circle  
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